=1L

Series EF1GH SET~4
. T-TT e
........................... r—— QP Code 75
Roll No : LTI
e gea-um aﬁ:c: B IA-YfEaehT é;
g -8 7T 379 ford |

-----------------------------------------------------------------------------------------------------------------------------------------------------------

---------------------------------------------------E ;Candldates must erte the Q P Code

: on the title page of the answer-book.

.

: eIk @ 8 g HleaT % - 70
TLme allowed : 3 hours Maximum Marks : 70
() WWW#%QW—W&%WM g1
Please check that this question paper contains 15 printed pages.
(i) T B I3 5T BT IR 3T T FoT-UF FHIS F1 GRS SH-GIHT F JG-TF T
o7 |
Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

(iii) P77 B A o5 3T FoA-TAH 3T T8 |
Please check that this question paper contains 37 questions.

(iv) T T4 T IR [7GT & F7 @ U801, FR-YIIHT § J77 1 F41% T Io7@ |
Please write down the serial number of the question in the answer-
book before attempting it.

(v) 3T F7-T7 1 9§74 & 170 15 1372 71 THF 1597 701 & | F979-97 &7 (90 qatg 4 10.15

F97 1597 ST | 10.15 §57 8 10.30 9 7% T09877e Fac7 F99-97 H1 957 IR 37 3%
& NI 3 ITR-GIeTehT T H13 I 7871 107@7 |

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

candidates will read the question paper only and will not write any answer
on the answer-book during this period.

277 Page 1 P.T.O.

Previous Pathshala




T I
() YoA-T7H TGS aIr37 FHTE |
(ii) TUE-37 7 ¥ % 1 31 e 1-18 Tglabed! 597 & | G4t 997 31 8 |
(iii) GUE-§ H 19-24 7% 317 Tg-I0T YW & F97 8, f55a9 @ 5 397 37 8 | I3
T97 2 37 B7 & 3K 60-90 =] § &7 T13T |

(iv) @US-T T 25-30 7 Tg-3IF0T FHR & Jo7 &, [5G8 @ 5 J97 FX7 & | ¥ J97 3

3% FHTE IR 100-150 Fscl 7 517 F715T |

(v) TUB-TH 31-33 THT 7677 J97 8 | Jrdeh Jo7 4 3% 7 & | 3T [debeq Iqciee]

g/
(vi) GUB-TH 34-37 Fe-Fwi7 I97 8, 5797 @ 3 Fo7 37 & | Ie9% J97 5 37 BT & 31K
200-300 J1F @ 3778 757 517 F13T |
@UE — 3
(aeft wemr e §)
1. 3718 bl T R
(a) YoTER (b) EATEA
(c) dSITEd (d) gquEd
(faitra SET % fore w9)
g Reuh e g |
(a) YoTER (b) T
(c) ISITEd (d) IEHER=EEA
75 Page 2

Previous Pathshala




General Instructions :

75

(1) The question paper consists of § sections and 37 questions.
(it) Section-A consists of question 1-18 carrying 1 mark each and is
multiple choice questions. All questions are compulsory.
(iti) Section-B consists of question 19-24 carrying 2 marks each and are Very
Short Answer Types and should not exceed 60-90 words. Attempt any 5.
(iv) Section-C consists of question 25-30 carrying 3 marks each and are
Short Answer Types and should not exceed 100-150 words. Attempt
any 5.
(v) Section-D consists of question 31-33 carrying 4 marks each and are case
studies. There is internal choice available.
(vt) Section-E consists of question 34-37 carrying 5 marks each and are
Long Answer types and should not exceed 200-300 words. Attempt any 3.
SECTION - A
(All Questions are compulsory)
Identify the Asana : 1
(a) Bhujangasana (b) Halasana
(¢) Vajrasana (d) Dhanurasana
(Question for Visually Impaired candidates)
pose is like cobra.
(a) Bhujangasana (b) Dhanurasana
(¢) Vajrasana (d) Ardhmatsyendrasana
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2. 3IcrHl, YiedTcHe STRITAT 3T AIC Sh e S8 TIequT Y gefa @ |

(a) Sfed@Ear (b) EEHe
(c) ThasAHEdl (d) T

3. T A W, wares uer w1 wHTferd s dTell ik A8l & 7

(a) TRy (b) TR HIHI
(c) Ic=AEH §eA d) ag-uferia

4. Tafafea o8 M @1 e Fuiia s 9T S 18l | 7
(a) SIST oY BT (b) TrBf=r
(c) WS ! &G ) amgafem

5.  hIdcieh ST ST J=INT 1 fapfd & o fou feran ST 2 |
(a) TET-eTHal (b) wifed
(c) =k @) Tfa

6. SS! 3R HAl S8 WAl H fohd ThR hl HH-GF- AR 1 STGLIRT Bl 3§ ?

(a) ITTEATTH AR (b) I AT
(c) 3TIREH Irar (d) TaveT Jrgar
7. %1 I FZdl I Fe BT hl AMA1, FeI&HaT Te2H H IR HE H 7Gg
Tehdl 2 |
(a) e e (b) TTEEIFANNGD ITFA
(c) Tatr (VHifesw) 3t (d) T 3T
8. Tocd ohg, frthi g 1 3fed fRafg et 2 |
(a) WK (b) <&t
(c) wfedi d &
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Traits like sadness, mood swings and emotional instability are related
with
(a) Extroversion (b) Agreeableness

(c) Conscientiousness (d) Neuroticism

Which of the following is NOT the factor affecting projectile trajectory ?
(a) Gravity (b) Angle of Release
(¢) Buoyant Force (d) Air Resistance

Which of the following factors, does NOT determine flexibility ?
(a) dJoint Structure (b) Previous Injury
(c) Efficiency of Lungs (d) Age and Gender

Fartlek Training is used to develop
(a) Endurance (b) Strength
(¢) Flexibility (d) Speed

Which type of coordinative ability is required in games like judo and
wrestling ?

(a) Orientation ability (b) Coupling ability
(¢) Adaptation ability (d) Differentiation ability
The ability to tolerate higher concentration of can help in

improving endurance performance.
(a) Lactic acid (b) Hydrochloric acid
(¢) Acetic acid (d) Sulphuric acid

Centre of Gravity is the average location of an object’s

(a) Weight (b) Force
(¢) Resistance (d) Velocity
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11.

12.

13.

14.

75

= < BT 1 IR (A) IR HR (R) 94 fean man 2 |
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© (AT, fhT (R) 8 2 |

@ (A FEAE, AfpT (R) TA R |

HiTe SRR 8 ST S fireht 2|

(a) IR S AUAM i FHIEE ST (b) T

(c) hIFITERT <l HUHA AT (@) oA =
faferfiga § & i & ot & gemefie faerfim g ¢

(a) Toerfim € st (b) Toefim & afx =
(¢) faerfm @ sim @ @) frefm @ i

frfetiaa H & s |1 37, 1 w1 Stk T o forg s 7 o stran @ 2
(a) dreEA (b) EgUEA
ORRELIEE (d) e

19 1 3 ik - 3713 ThaReer § ot Feha B Wt ST 7
(a) 18 (b) 17
(c0 20 (d) 16

Aeh - 33 gAME Wl FfaIRad T & i ST Siran & -

(a) UfAftme= At (b) TIs-Ufer AT
(c) o gAme (d) <ot gt
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11.

12.

13.

14.

75

Given below are the two statements labelled Assertion (A) and Reason (R). 1
Assertion (A) : Aggression is part of human behaviour and is necessary

for an individual to live and struggle for higher achievements.
Reason (R) : Aggression is inevitable and inseparable in sport activities.

In the context of the above two statements, which one of the following is

correct ?

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of
A).

(¢) (A)is true, but (R) is false.

(d) (A) is false, but (R) is true.

Role of water in human body is to 1
(a) regulate body temperature (b) give energy

(¢) repair cell (d) protect from disease

Which of the following are water soluble vitamins ? 1
(a) Vitamin D & K (b) Vitamin B & C

(¢) Vitamin A & E (d) Vitamin A & C

Which of the following asana is NOT used to cure Asthma ? 1
(a) Tadasana (b) Dhanurasana

(c) Parvatasana (d) Bhujangasana

How many total matches will be played in a knock-out fixture of 19

teams ? 1
(a) 18 (b) 17
(¢) 20 (d) 16
Knock-out tournament is also known as . 1
(a) Elimination tournament (b) Round-robin tournament
(¢) League tournament (d) Challenge tournament
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15.

16.

17.

18.
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T SHIARISh Wl o1 STESH 99 T fepam T o |

(a) 1896 (b) 1960
(c) 1924 (d) 1951
frfafaa o1 foem Hifv
gt -1 et - 11

[. Aedt/Sgdem 1. dia I3k hl g6
1. FESHPHIIAN 2. Wl AR @S T WG & o d BT §HT
III. FESAMAIAX 3. A= @S g 1 feufar & geai 1 st § waet M |
IV. gqueR e 4. {ig <l 5 61 STaTS Foha
3 3 @ gt fereneq o1 THTE RIS

1 1I II1 1A
(@) 3 1 4 2
b 1 3 4 2
(c) 4 2 1 3
(d) 2 3 4 1
frrefearaa =1 fierm Hifsm ;

Tt - 1 et - 11

. wiefimes 1. Seh! shl FHU IR T Afrd-Hg=erHar
. g-31 2. 37 o BT A h A T A
III. 37Tk et 31 3. Sl Il FH IR AT wiferky-Tgermar
IV. denfed 9= 319 4. Yz HiwfEd
1 1 & 9 foreheq w1 gA@ I -

I II II1 1A
(a) 2 1 4 3
(b) 2 3 1 4
© 1 3 2 4
@ 2 3 4 1
TTeh! T HEY g |
(a) Wfgensti B el Hramiea (b) wlacnsd & wifees o 6 IE3Td
(c)  TTHTerET T THY (d) weevs far
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15. First Deaflympic Games was organized in the year . 1

(a) 1896 (b) 1960
() 1924 (d) 1951
16. Match the following : 1
List -1 List - II
I.  Knock Knee/ 1. Increase exaggeration of backward curve
Genu Valgum
II. Kyphosis 2. Wide gap between the knees when
standing with feet together
III. Lordosis 3. Knees touch each other in normal
standing position.
IV. Bow legs 4. Inward curvature of the spine
Choose the correct option from the following :
I II I1I 1Y
@ 3 1 4 2
® 1 3 4 2
© 4 2 1 3
(d) 2 3 4 1
17. Match the following : 1
List -1 List - II

I. Plate Tapping Test 1 Upper body strength endurance of boys

II. Push-up 2.  Speed and coordination of limb movement
III. Partial Curl up 3.  Upper body strength endurance of girls
IV. Modified push up 4. Abdominal strength

Choose the correct option from the following :

I II III IV

(a) 2 1 4 3
(b) 2 3 1 4
(c) 1 3 2 4
(d) 2 3 4 1
18. Menarche is related to : 1

(a) Ending of menstrual period in women
(b) Beginning of menstrual period in women
(¢) Time of pregnancy

(d) Spinal deformity
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20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

75

gig -9

(for=gi i T¥Ai o ST E)
AT h! T4 e aret fopegl S el h1 Gfeed Ui <ht | 1+1
A& fyior g v R gREa @ ¢ 2
T %1 IHATNG ST 3R 86 TehRI <h! Fi s | 1+1
ST o Tehgl T Tk Bl T8 SHIRT | 2
1. UH.371S. AT ? Teh dcieh bl ofl.UH.3TTS. 1 AT shiIfSu fSe8enT ao 72 fohedl 3R
TS 1.68 Wil # | 1+1
& GEH 1Nk ad] b S 3L T HITT | 2

g ig-49

(1 afer ol & I )
“mifees Tfafafet 1 wrfler) foeiv sTevaehdT 9 =1 o foT a8 17 fhal B
AT ohT Tiered ferarwor @S | 3

faeTfim <€ @ faeift <h & %t &l faRau 37R 3o |l 1 3eeid T | 1.5+1.5

foreht @et STk o SATSH H FésM g =01 & St <1 Gfered 9o hifau | 1.5+1.5

BH SATH-T=1 3T 3ATcH-FHH hl Heg § Wl T3 ol hy &1 Fehd & ? 90 shifeT | 1.5+1.5

ST & AU -G T U ITc1 foheg] ©: T bl T8 shIfU | 3

T Yl h! fobld & ATIeRT 1 ST & 7 T 4l oh! Sk i % 7T fehegl IR

GURIHeh U1 T GTa ST | 1+2
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20.
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23.

24.

25.

26.

27.

28.

29.

30.

75

SECTION - B

(Attempt any 5 questions)

Briefly explain any two factors determining endurance. 1+1
What do you understand by “Goal Setting” ? 2
Define Flexibility and list down its types. 1+1
Elucidate any four types of fractures. 2
What is BMI ? Calculate BMI of a child whose weight is 72 kg and height

1.68 mt. 1+1
Differentiate between Macro and Micro Nutrients. 2
SECTION - C
(Attempt any 5 questions)
“Participation in physical activities is advantageous for children with
special need.” Briefly explain any six advantages. 3
Write the functions of Vitamin D and Vitamin K and mention their

sources. 1.5+1.5

Briefly explain the functions of Directing and Controlling to organize

sports event. 1.5+1.5

How can we enhance the sports performance with the help of self-talk and
self-esteem ? Explain. 1.5+1.5

Elucidate any six effects of exercise on muscular system. 3

What do you understand by Round shoulders deformity ? Suggest any four
corrective measures for round shoulders. 1+2

Page 11 P.T.O.

Previous Pathshala




31.

32.
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WE-T
(3T Tehed Sucred §)

IR feherE o SR W, e wee o 3o i -

(a) o gATHe | fhaeer s & fore fem H o & fafu fearg 1€ 2 2

(b) T <hl HEAT 1A H BT TF FATE ?
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] = = =

(A) (B)
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(b) T (B)  ¥ic 1 €hmr &6 & ToTU 1 97 ot 18 L@ B 7

(c) TIfc T hIF |1 =T ST=3H <61 T[UTer o1 fgiia war g ?

(d) TRt ag®I___ TcIe €9 ¥ 957 o Go9HM a1 36 T T T 3G 5 W R
HA3 |

€I

“3ref Tohehe o1 Ush THfard o & weid & T RaeTrEl ol Tie <l 379 BTei H 3TH 8 M

o foTT Heeh o6 ATHT 9T & |7 55 3TaX0T H =g o Tohdl T o1 SRImT foha T 2 |
(Pt ST % for we)

Wl o 3ferd ISTET ¢ §U, =IeA o Toheg af 7ifet o Forermi o1 forega e iR |
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32.
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SECTION -D
(Internal choices available)

On the basis of above fixture, answer the following questions : 4

(a) Which method is shown in the picture to draw fixture in league
tournament ?

(b) What is the formula to calculate number of matches ?

(¢) Inleague or Round Robin Tournament winner will be decided on the basis of

(d) If 7 teams participate in a league Tournament, number of
matches will be played.

(For Visually Impaired Candidates)
Explain the responsibilities of any four committees required to organize a
sports event.
Study the pictures given below :

(A)

Based on your above study and your knowledge, answer the following questions: 4
(a) Which law of motion will be applied to initiate motion of the ball as
depicted in the illustration (A) ?
(b) Inillustration (B) which force is acting upon the ball to slow it down ?
(¢c)  Which law of motion will determine the quality of bounce ?
(d) of an object directly depends upon the mass of the object and
net force applied on it.
OR
“When a cricket ball is moving with a certain velocity, the player has
to apply retarding force to bring the ball at rest in his hands.” Which
Newton’s Law is applied in this illustration ?
(For Visually Impaired Candidates)
By giving suitable examples from sports, explain any two Newton’s Laws
of Motion in detail.
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33. Tz 9 g=fRE e v & I

34.

35.

36.

37.
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(a) T __ Higwiu e e fug o1 arsee fomiy STefies 9 7 |
(b) ToraIy-3TATHIeh T HEATIH DI T ?
() To (B) % 18R 811 & ‘3, T’ 3R U’ % AR AN Id H ThH-GaL W
TER ST EA S, % forq qet ferg o1 wfafftrea e € |
(d) T|H 1960 H YUH Wreifieh Wl H feha gt = fegan fom o 7
a0
WrAfUeh WAl T AT - 2
Rt BET & fore w9)
forIy aTagehar aTel =l % fofu Imfes wfafafel ® gm sam % fore e = m
TR Y s hifu |

Qg -
(R i it o6 ST )
I THAATT h! UhITH o TTT ITART fohe ST et fohedl 9 31T ht gt AT | e
3@ 1 TR & 30 T foreht usp 1 wfsha e foudia werdi o1 v Hifere |

fehet! TUg S Tthed TXieTur shl oRIT 3699 © ? Sl Tohval o1 II&I0T Hal ohl fshaT 1
R A v =L |
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TN R g ? WAl H ST ITEWT ¢ §U INUT oh AT YT BT [TRGT |
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34.

35.

36.

37.
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In relation to the pictures, answer the following questions :

(a) Logo shown in picture refers to Special Olympic.

(b) Who was the founder of Special Olympics ?

(¢) According to figure ‘B’, the hand shapes of ‘OK’, ‘Good’ and ‘Great’
that overlap each other in a circle, represent the original sign for

(d) How many countries participated in the first Paralympic Games in
Rome (Italy) in 1960 ?
OR

The moto of Paralympics is

(For Visually Impaired Candidates)
Explain any four strategies to make physical activities accessible for
children with special needs.
SECTION - E
(Attempt any 3 questions)

List down any four asanas used for prevention of Hypertension. Explain
the procedure and contraindication of any one of them with help of a stick
diagram.

What is the purpose of Riklli and Jones fitness test ? Explain the
procedure of its any two test items in detail.

Define strength and explain any two methods to develop it.

What is Friction ? Write the advantages and disadvantages of friction by
giving suitable examples from sports.
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